Corporate Finance, 1/e by Smart, Megginson and Gitman

	Page
	Paragraph/

Problem
	Change

	900 (Part 8)
	Paragraph 1
	Delete asterisks as multiplication signs in Z score model and calculation on bottom of page beginning “1.33 = 1.2….”

	786 (Part7)
	Prob 22.2
	Place icon  for “smart solutions” on pg. 785 next to problem

	91
	Paragraph 2

Line 12
	Change “x” in following sentence to “- “ 

“For the credit card example, 1.5 percent per month interest has an effective annual rate of [(1.015)^12 X 1] = 0.1956, or 19.56 percent.”

	212 (Part 2)
	Footnote 8
	Change “minimum variance portfolio” to “optimal risky portfolio” so the line reads “….in combination with the optimal risky portfolio can be…”

	70
	Paragraph 1
	Change sentence “In the Opening Focus, we were trying to determine the present value of the lottery’s 25 year stream of $11.8 million annual payments,…” to ““In the Opening Focus, we were trying to determine the present value of the lottery’s 30 year stream of $10.5 million annual payments,…”

	67 
	Equation 3.1
	· in the definition of PV: insert “(the lump sum” after “investment” and before the comma

· in the definition of r: replace the definition with “interest rate per period”

· in the definition of n: change the definition to read “number of periods that the lump sum is invested.”

	88
	Line 2
	Under the heading “A General Equation” insert the phrase “per year” after “percent” and before “for”

	67
	Equation 3.1
	In line of text just above Eq. 3.1 insert the phrase “percent” and before the colon: “per period (the usual convention is that one period equals one year)”

	18
	Part 1
	Change the graph to reflect the following

· shade in yellow between x-axis line and yellow line

· shade in purple between the yellow line and the purple line

· shade in blue between the purple line and the blue line

· shade in red between the blue line and the red line

· shade in green between the red line and the green line

	75
	Figure 3.5
	Delete down arrow box next to NPV in BA II Plus image

	82
	Figure 3.8
	Delete down arrow box next to NPV in BA II Plus image

	79
	Figure 3.7
	Change value in box labeled “100” to “1000”

	68
	Paragraph 2
	Last sentence “A decrease in any current asset or an increase in any current liability results in a cash outflow” change to the following:

“A decrease in any current asset or an increase in any current liability results in a cash inflow”

	126
	Last Paragraph
	4th line from bottom; sentence begininning “In July 1983, T-bills offered….” Change to the following:

“In July 1993,…”

	179
	Last Paragraph
	Sentence beginning “Its average montly…” should be changed to “monthly”

	180
	Paragraph 1
	Sentence beginning “ As a consequence, though we still expect to see a positive relationship in the market between risk and return, we can longer be confident” should be changed to the following:

“As a consequence, though we still expect to see a positive relationship in the market between risk and return, we can no longer be confident. 

	Xii
	Preface
	· Narendar V. Rao – schools listed should be Northeastern, Illinois University

· Ramesh Rao – school listed should be Oklahoma State

	67
	
	Equation at top of page should be changed from 

Future value at end of year 2 = $100 X (1 + 0.05) X (1 + 0.05)

                                               = $100 X (1 + 0.05)

to the following:

Future value at end of year 2 = $100 X (1 + 0.05) X (1 + 0.05)

                                               = $100 X [image: image1.wmf](
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	113
	Line 14
	Change last word from “analysis” to “rating”

	113
	Paragraph 1
	Last two sentences in first paragraph – delete and replace with the following:

“Other prominent musicians, such as James Brown and the Isley Brothers, and even the famed wax museum in London, Madam Tussaud’s, soon followed suit by issuing their own future-cash-flow-backed bonds. In mid-2003, a slump in music sales, driven by growing availability of free downloads, cause the credit quality of Bowie Bonds to be questioned by Moody’s and raised the likelihood of a credit downgrade.”

	113
	Paragraph 2
	First line – delete first clause so it begins with “Bowie…”

	157
	Figure 5.1
	Source should be listed as “Dimson, Marsh and Staunton”

	158
	Table 5.1
	Source should be listed as “Dimson, Marsh and Staunton”

	160
	Table 5.2
	Source should be listed as “Dimson, Marsh and Staunton”

	165
	Footnote
	Source should be listed as “Dimson, Marsh and Staunton”

	166
	Figure 5.3
	Source should be listed as “Dimson, Marsh and Staunton”

	191
	Figure 6.1
	Source should be listed as “Dimson, Marsh and Staunton”

	248
	Paragraph 1
	Delete “ratio of the” in the following sentence:

“Mathematically, the PI equals the ratio of the present value…”

	292
	Last Paragraph
	Change “machine” to “ovens” in the last sentence:

“The revenues and expenses (excluding depreciation) associated with the new and old machine for the next five years….”

	299
	a.
	The instructions for part a. currently read:

“Calculate the equivalent annual cost (EAC) of the new truck. Use a discount rate of

 9 percent”

Move “9 percent” to second line.

	315
	Paragraph 1
	Delete Line 2 “ The equation linking asset and equity…”

	315
	Paragraph 1 
	Line 3 delete the phrase “the relationship between asset betas and equity  beta” replace with “Equation 9.5”

	315
	Paragraph 1
	Insert the following in Paragraph 2 (beginning with Fortunately…) 

“The term [image: image2.wmf]b

 ^u in this equation refers to the equity eta of an unlevered firm which is the same as the asset beta in a no-tax case. For simplicity we will treat the terms “asset beta” and “unlevered beta” as synonyms, though, there are subtle differences between them in the presence of taxes.”

	333
	Table 1
	“Summary Output” the following changes should be made

“R-squared” change to “R-square”

“Adjusted” change to “Adjusted R-square”

“Standard” change to “Standard Error”

	336
	Entire page
	Change any reference to “Department of Commerce” or “Commerce Department” to “Department of Labor” or “Labor Department”

	355
	Paragraph 2
	Sentence 1 beginning “In this framework…” change “return given its risk” to “risk premiums”

	377
	Paragraph 2
	Sentence 2 beginning “We reproduce that graph below” change to “We reproduce that graph at the bottom of page 376”

	472
	13-9
	Before last sentence in instructions beginning “If necessary…” insert the following:

“Assume that if bankruptcy occurs, the firm will reorganize and continue operations indefinitely with a constant 10 percent probability of re-entering bankruptcy.”

	491
	Paragraph 3
	3rd sentence from end of paragraph “finance” misspelled “fiianance”

	559
	Last Paragraph
	Sentence 2 “equity carve-out” should be italicized

	591
	Paragraph 1
	Sentence beginning “A detailed discussion of these innovative…” change “contemporary” to “innovative”

	688
	19-11
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change to the following:
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	690
	
	Equation at bottom of page should read:
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	708
	Paragraph 2
	Equation should read
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	718
	Figure 20.4
	Source should read:

“Panel A: Frances Williams, “Global Foreign Investment Flows ‘Set to Fall by 40%,’”

	728
	Problem 20-9
	Instruction should be changed from:

“Use the data presented in Figure 20.1 to answer problems 20.9 and 20.10”

to the following:

“Use the data presented in Figure 20.1 to answer this problem”

	768
	
	Second equation from bottom of page insert bracket as shown:

[S(m)(1 + g)(1-d)](L/E)

	790
	22-9
	First full paragraph, second to last line in instructions beginning “The firm expects a cash dividend” add the “to pay” so the sentence reads “The firm expects to pay a cash dividend of $30,000…”

	797
	Paragraph 1
	Sentence beginning “Cash that is not used…” delete hyphen between the words “more” and productive”

	879
	Paragraph 1
	Change the following sentence from

“Of the $20 million in cash needed for the purchase, $5 million is available from retained earnings and the remaining$15 million…”

to the following:

“Of the $20 million in cash needed for the purchase, $5 million is available from retained earnings on which investors require a 12% return. The remaining $15 million”

	881
	
	Figure for “Free cash flow” at bottom of page should be changed to the following

2006        2007        2008        2009        2010
54.1          54.0        55.6         57.4        59.0    

	903
	24-3
	Problem should be labeled “25-3” rather than “24-3”

	905
	25-10
	Change equity to debt in last mention of equity. See below

“Sosbee Foods has a working capital/total assets ration of 0.2, a retained earnings/total asses ratio of 0.1, an earnings before interest and taxes/total asset ratio of 0.25, a market value of equity/book value of equity ration of 0.6”

	8-4
	Biblio.
	Ian A. Cooper should be added in bibliography for the following:

“Brealey, Richard A., Michel A Habib. 1996. “Using Project Finance to Fund…”

	8-6
	Biblio
	“Dann, Larry” not aligned properly

	8-7
	Biblio.
	“Dimson, Elroy, and Paul R. Marsh..” change to the following:

“Dimson, Elroy, Paul R. Marsh and Mike Staunton. 2002. Triumph of the Optimists: 101 Years of Global Investments. (Princeton, NJ: Princeton University Press).

	98
	3-5
	Instructions for problem 3-5 sentence 1 “every” misspelled

	6-17
	Def. Of short straddle
	Change word “long” to “short”

	1-3
	Index
	“depreciation, 266,695” should be referred to as separate contexts as follows

“accounting depreciation 266”

“currency depreciation 695”

	658
	18-19
	Change “call” to “put” in last sentence of instructions

	676
	Paragraph 3
	4th from last sentence should be changed as follow

“If Amgen stock sells for $57 and each bond can be exchanged for 8.8601 shares, the conversion value of one bond equals $505.03 (8.8601 x $57)….”

Currently reads “(8.8601 x $57)”

	137
	Eq. 4.7
	Change subscript [image: image9.wmf]D

n

 to [image: image10.wmf]D

0

 in third fraction of equation (before term in brackets)

	150
	4-6
	Instruction for Q. 4-6 sentence 2 should read “Five years ago, the U.S. government sold 10-year bonds…” 

	708
	First equation
	A lower case r with the subscript “real” is used, this should be an upper case R with the subscript “real”

	658
	18-5
	Sentence currently read “…the value of a 3-month call” change to “4 month call”

	675
	
	In solving for [image: image11.wmf]d
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 solution should read 0.339-1.089 +-0.750 as opposed to 0.339 – 0.772 = -0.750

	122
	15.3
	Sentence 1 should read “Oakmark, made a $3 million investment…” rather than “$13 million investment”


